\\dcO1\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15341 - Exterior Door Components - Rediflex Steel Frames\C - Drawings\FL-15341 (2020)\FL-15341.1-4.dwg

a Dunbarton.
CORPORATION
868 MURRAY ROAD, DOTHAN, AL 36303

"REDIFLEX"™

TWO-PIECE STEEL FRAME SYSTEM
UTILIZING A
MASONITE OPAQUE STEEL DOOR PANEL

"IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 7th Edition
(2020) Florida Building Code (FBC) structural requirements excluding the "High
Velocity Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debiris protection this product
complies with FBC Sections 1609.1.2 & R301.2.1.2 and does not require an
impact resistant covering. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E 1996 and FBC Sections 1609.1.2.2 & R301.2.1.2.1.

4.  For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevation, design pressures & general notes
Steel frame cross sections & details

Door panel details

Horizontal cross sections

Vertical cross sections

Buck & frame anchoring - masonry 2x buck

Buck & frame anchoring - steel/2x stud

Bill of materials and components

O (NN A [WIN|—

REDIFLEX TWO-PIECE

39.5" MAX. OVERALL
FRAME WIDTH

No. 43409

85.5" MAX. OVERALL FRAME HEIGHT (INSWING)
85.5" MAX. OVERALL FRAME HEIGHT (OUTSWING)

August 11, 2020

o
4

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

FBPE Registry No. 9813

S, DESIGN %(M/

0
=
L o
o= =
LS -
Ll &=
a
vy, =
Xl | Qi
5 15 Eo
=z0n 4 =<
SLLI s a"s
xO | o
< o Wn
2% |9
5|3 || S@
| E ol amn
o — t""l
o 0
x < o
o o
x>
] i [

INSWING / OUTSWING

39.5" X 85.5"

9/30/17 |UPDATE TO 6TH ED. (2017) FBC | LFS

8/11/20 |UPDATE TO 7TH ED. (2020) FBC | DAC
1/27/16 |REVISE ANCHORING

3/23/15 |UPDATE TO 5TH ED. (2014) FBC

NOJ DATE

<+ M|

1

REVISIONS

DATE: 03 /14/12

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15341.2

SHEET 1 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



*ON| SANVLIINSNDGD aNIgHNg "My 2102 @

€186 ‘ON Ansibey 3dg4 SIVIIa ¥ SNOISIAFY
L616°6G9°CL8 "ON euoyd I FONT &
S6SEE 14 ‘OOUIDA ‘0z X08 ‘0°d \Su SNOLOFS SSOM0 Wl TaALS (e mm\_.w%n o,z NN N ||
"ONI ‘SINVLINSNOD ONIgIING @ K1GN3ASSY 90 19vd | S47 ONIHOHONY 3SIA3d| 91/22/L ] 2 || ClEL s
S47| 084 (Z10Z) 'G3 HL9 OL 3ivadn|Zi/0e/6 | £ I\ < g _
- INVHS T133LS FOTId—OoML - ) - ~
60¥S¥ 'ON “3'd 5vd | 084 (020z) ‘G3 HLZ OL 31vadn|oz/L1/8 | + !
P -4 Nopar X3HI03Y NOLIVANNG % o @ g w BE x|y
:10NaoYd HEIHHEE &
- :QQ.O -—
b o
_ - ] — — 8951
o™
3 Q S Q
o m o m «
i :.?&O.N i :‘V&O.N b |» g
g .
Q ~t
< &
N
Y /i 3
y 71 <
U - " " 3
| S | | w
“ S | AMn
| |
_ | m &
e _ :
_ | @ I < o
| 1N | a > &L
| T | | o) . 2
, NS | ! R 3 &
- } o < — | | = . w W
{ | < A | _I« Qb n =
< | < | lon & & 2 *
“ Wy o “ jm M
X _
, e [ ! wlnc »
1 @ Z | | =
| _ © ” & @
_ |
| ! _
| | |
| | _
“ . |
| |
| | |
N\ / A » | Y74 ‘ |
1 /4 I/4

SIDE JAMB

BASE

HEADER

BASE
TAB

e
o

\/\/

SIDE JAMB
CLOSURE

KERF FRAMES DO NOT MEET AIR AND WATER CRITERIA.

CLOSURE

HEADER
2. HEADER AND SIDE CLOSURE JAMB MINIMUM 22 GA. GALV. STEEL.

1. HEADER AND SIDE BASE JAMB (1) MINIMUM 18 GA. GALY. STEEL.
3. FRAME SHOWN WITHOUT OPTIONAL STEEL TRIM CASING.

NOTES:
4. NON-

BMp -1 LYESL-1\0202) LIS L-T4\sBuImeIq - D\sawiesd [891S Xlipay - syuauodwod 100q J0LRIXT - LPES L-14\s|erosddy 1onpoid epLoj4 - Y\lUsUBWLd UOHBQUNA\SIUBND\IGMIALOIP\



TONT SINVIANSNGD aNigaing "'m'd 2102 §

€186 ‘ON Ansibey 3Idgd SNOISIAZY
LBLB’6G9'CLE ION sBUOUd Ad 31vad [ON}oN N
GBGEE T4 ‘OOUIDA ‘0EZ x08 °O'd \Su STvVL3Q 13Nvd 00d AP 084 (¥102) ‘03 HIS OL 31vadn| si/se/s| || ¥ x 2 = 8_
:o_d__ ...wm.z.«ﬁ:mzoo ONIGTING @. ATANISSY ¥0 LMvd [ sJ7 ONIMOHONY 3SiAzd| a1/rz/1 1 2 | W = y :Mu &
AW\ 11, _ S41] 084 (£102) ‘a3 HI9 ol 3ivadnlzi/os/6 1€ INN S 2m
ROREY WNo,l,, sovey coN cma| NV HHUS 303Id-OML  [5vaT 583 (0z0z) "a3 HIZ ol divaan|oz/iise | ¥ Q| . |&|&le | |
N s aiian D88, piuyos <4 uopuky X3141038 NOLYVENNG al IGE T
SO0 7 FHHE:
S ) :10Na0¥d S|a|3|5]8 &
<
® S
g
Vo
a8
)| T
| O
RERE (C1F
”, S <
\ m 8
SI8
® ® P
Z
o
O
D
o S L - PAM«.M. m mm
=2 2
=3 1
® 25
)
-
— L1
i i — .
O | : :
5 K =5
_ ® 8 Zv00 N6
* Ew — Pw
B3 | 25
o)
o«
2 ®
® °
R = g = . 5 680
S 2 4 me | =l 8 i g 860~ |5
Q|3 1% g 3 s /4 8
e o 3 O (0] % it i =0 Md
. T : s (0] - @
&G &S o | 8 — Md i~ Olo
-3 o) U0 ac ac| OO L ES al® — S
S S 3z o oz 1 1 9= |7
= HIE = g 4 " @ i
= E2s E 2T : @ 3)
— 0 c S i O [
A\ S 5
T j oo
\ T [] z
RN s Xo
® o 52 [] o
- | Cham + @
e
¢ A
IHOEH 1ANVd XYW .5°C8

BMPY- L LYESL-14\0202) LyeSL-T4\sBuimelq - D\sauleld 9915 Xejpay - siusuodwo) 100 J0LaKA - LYESL-T4\s[eroiddy 19npoid epLO}4 - Y\IUBUBWId UOHRQUNA\SIUBHD\IGMILOIP\



TON| SINVIONSNOD 9NIgTng "'M'sd 2102 @

€186 ‘ON Aisibey 3Idgd
S6SEE "4 ‘O9MIPA ‘0SZ xog "O'd \Su i 084 (¥10Z) "03 HIS ol 3ivadn| gi/sz/s| L |N|¥I|X P =
"ONI ‘SLNVLIINSNOD ONIgliNg WW INTGWESSY 80 [8vd | g9 ONIMOHONY 3SIATd| 9L/2z/1L | z || ~ . N
1, S471| 084 (£10z) 'G3 HI9 OL 3Ivadn|/1/0s/6 | £ || < 12 2 4_
.w.%\\\ 80+Sy ‘ON “I'd JAVYS T331S 3031d—0ML ova | o84 (020z) ‘a3 HLZ Ol 3lvadnloz/Li/g | ¥ |9 BlEle |
4, PSS -4 UopuAT X314038 NOLYVENNa TEIIN =k
.... oﬂxim pesodeld sjuswuncog pikeglee-rs] HEIEE m %

0202 ‘L1 1snbny

-1/4" MIN
MB. (TYP.)

D
)
II/II”
1
E

e
4
IS
a
N3 b
a -
bﬂb h .
& a
s a
S
g
2 -y
&
s
AT
53
13
a
IS
A
a
b
4
LR }

&\ @
@
HORIZONTAL CROSS SECTION

7‘ NIW.E fv_

v
v
v
v
v
by
4
v
4
b
t

: |
\
1

=
=

YA w—

VAT A0 S 4. 4 A ww . -
- L\
-3 % 1y
s N ».M
2 N 3
7 /3o kil

& LU
L4

See note 1

7“4\ HORIZONTAL CROSS SECTION

77

\4/ Optional steel stud construction

3
W 2X wood buck

/4

INTERIOR
EXTERIOR

[24
Q
[0
LLs
[
£

© \

EXTERIOR

1. A minimum of three threads must protrude
completely though the supporting steel stud.

HORIZONTAL CROSS SECTION
X wood buck

Note:

\\

@)
)
L

\U Opfional steel stud construction

[0/ F
1)
]

P
N T4 .
L A‘
5 4 V4yav- .
- s
[ SR
>
[
>
a4 5
£
L3
S/
44
P
&
2
a
&
.

7“2\ HORIZONTAL CROSS SECTION

@

(13\}9

1-1/4" MIN.
EMB. (TYP.)

D
(4
\4/

41

@)

5
v |
[ ]
| —
<
(3 aY 5
5 5

- ove

CSPS

Bmp -1 L ESL-14\0202) LyesL-Td\sBuimelq - D\sawiel] [931S XopIpay - sjusuodwio) 100Q J0LaIXT - LYESL-T4\s[er01ddy 1onpoid epLold - Y\IudUBWISd UOLIBGUNA\SIUSHD\IGMILOIP\

7”5 "\ HORIZONTAL CROSS SECTION
\U Optional 2X Stud Construction

Ext. Sheeting




TONT SANVLINSNGOD aNIaTng "Mm"'" 2102

‘OoN Aiysibe &
nmﬁmwmwmnrmﬂ.ozmommmu SNOLLOZS SSO4D SNOBIAES F
. . ou WL A8 VA _TONIN o] oo
S6SEE 14 ‘OOUIPA ‘O£Z x08 'O'd § ir 084 (¥102) "a3 HIS ol dwadn] sifez/el L IN|V|S|L| 3
o_7_=~ _..m»zﬁ.smzoo ONIgliNg \m/h XTGN3SSY 40 L9vd | 597 ONIMOHONY 3siA3d| 91/zz/L ] 2 |3 M R
Wi, _ S41| 084 (£10Z) 03 HL9 Ol 31vadn[41/05/6 | £ |\ g2 o
///MP& WNoOsg/7,, sovey ‘on ag| ANV TEHIS 30did-OML ova | o84 (020z) a3 HLZ Ol 3ivadn|oz/iti/8 | ¥ 19| . |£|&le ! |
ll//@ ...&mv.&.@.ﬂ.%....@&\\\\ IPIWIYDS "4 uopukd X3141038 NOLYYANNd gldle| |2 o ]
II&... .... o kg peipdeid sjuewnoog -LONA0Hd & m 2|5 m %
sy &= 020z ‘L1 isnbny
ki o xEoy « T
t 60VEY'ON ¢ = o) < v
% s § & = | ;
\\\\\\szom WI///, e
gy « "
o A =
m q ST m
i _ O
(dAL) "8a < A ,S:
—] 9 ot |
NIW /11 /\/* R 3
. g o
_. Ny o &
g & . 2
W == < v nnb
~ 2Zlc 5 , oc
— N Q|2 o S g
= s >
. L2 v
. o O ) v
y-d e Ko -
= - m = afh ; <
P! S 3 @ Olo i v <
, Lo @ |0 Y
voe . | - .
S o N SN
| : B
o o >0
o (‘dAL) "gw3
, v NIW .7/ 1-1
® —
g ﬂd,
o
: 5
[+°4
= =
z Yo
~ikKel
Pk
K| 6
- — Q|
T_E msm <o S <
NIW /1L iz % (<
- . —~ A/
N<L o ol 3
-0 = SE
L Zz =3
>S5
. [+'4
o <t|w
[+ 4
N =
"~ = 0
]
O
w
[ 7Y
a
« ® 8
[+
: O
W 0
= <
! VI
! O
& 2
>%
mw
=
® 5 §
& Q
TH] |31}
— L]
2 %
o]
[~ 4
O
<
15
P
&5
>
mw
x
O
[s74
e ,
= . 3
N o

BMpy- L LYESL-14\M0202) LyesL-T\sBuimelq - D\saulesd 9335 Xaipay - siusuodwod 100Q J0LBIG - LYESL-14\sjeroiddy 1onPoid BpLOJS - Y\IUBUBULIS UOHRGUNG\SIUBID\IGMINLOIP\\



\WdcOT\rwhbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15341 - Exterior Door Components - Rediflex Steel Frames\C - Drawings\FL-15341 (2020)\FL-15341.1-4.dwg

e ———

4"
= (1YP)

a
.!.-

/;/</\
SUB—BUCK—\

!

TYP. HEAD & Y

JAMBS g =y

4 — 550

e
MASONRY
OPENING

Y E

BUCK ANCHORING
Masonry
CONCRETE ANCHOR NOTES:

2" TO 6"
{TYP.)

[

. E—
SN

' e

. 4
(B R

4
>

!

—

SUB-BUCK

DOOR FRAME —\

MASONRY
OPENING

. [ :
R SN .
4 - . ’

7

3

3570 7"
(TYP)

!

TYP. HEAD & J -
JAMBS

15" MAX
0.C. (TYP)

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W

tapcon® | 14 1-1/4 2 4
DeWALT " n n "
uLTRACONS| 174 1-1/4 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws fo prevent the splitting of wood.

IS USED

FRAME ANCHORING

Masonry construction

©)

1

ST

ITEM #R IS USED ONLY WHEN
ITEM #71, THE ADA THRESHOLD

STRIKE JAMB

-~

=@
L

A

STRIKE PLATE DETAIL

“A ///// >- .
H— ,,,,”I
I 1
:u\?
™
I —
:u\).
™
H—

HINGE JAMB

"
»

T
i

HINGE DETAIL 1

August 11, 2020 ‘
Documents Prepared By: ., \.Z,

- "LORIDR. G
SonaL B
FL 33595

7
T

BUILDING CONSULTANTS, INC.

,6‘
//,
P.0. Box 230, Vairico,

813.659.9197

”
v
/,/

FBPE Registry No. 9813

-~

Phone No.:

W

Lyndon F. Schmidt
P.E. No. 43409

R

DUNBARTON REDIFLEX
TWO-PIECE STEEL FRAME

BUCK AND FRAME ANCHORING

PRODUCT:

MASONRY 2X BUCK

LFS | PART OR ASSEMBLY:
JK
Y

9/30/17 | UPDATE TO 6TH ED. (2017) FBC | LFS

1/27/16 |REVISE ANCHORING
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

4 | 8/11/20 |UPDATE TO 7TH ED. (2020) FBC | DAC

Moy

1

NOJ DATE

REVISIONS

DATE: 03/14,/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15341.2

SHEET _6 oF _8

© 2012 R.W. BUILDING CONSULTANTS INC.



\Wdc0\rwhbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15341 - Exterior Door Components - Rediflex Steel Frames\C - Drawings\FL-15341 (2020)\FL-15341.1-4.dwg

3" S
- 4 44‘. “‘4 4 / T
< it - ——T
PSRN
TYP. HEAD &
JAMBS [2) @
| EACHLOCATION || i
]©
MASONRY K2
OPENING 'lv___ i =
° : C \
q - a < 9 .
BUCK ANCHORING
Steel stud
CONCRETE ANCHOR NOTES:

2'70 6"
(TYP)

SN,

,,,,
NN
o
\i
|t

4

[y

SUB-BUCK

DOOR FRAME —\

MASONRY
OPENING

=

&
)

f\ —

On
o

o =IJ)' E
@ STEEL STUD N
@ 2X STUD |

TYP. HEAD &

JAMBS | ]
ST
<
iE

4 0O
-0

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

Tancror
'TW - L " " vn N
TAPCON® 1/4 1-1/ 2 4" [ 3" (steel stud)
DeWALT - - - -
uLTRACONS|  V/ 1-1/ 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

A\

A\

FRAME ANCHORING

Stud construction

ITEM #R IS USED ONLY WHEN
ITEM #71, THE ADA THRESHOLD
IS USED

A\

STRIKE JAMB

\Y

&

©)

h \

o
[5i

=(19)
=(19)

STRIKE PLATE DETAIL

31.75"

HINGE JAMB

’f

7
/1

HINGE DETAIL 1

August 11, 2020

P.O. Box 230, Valrico, FL 33585
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

DUNBARTON REDIFLEX
TWO—-PIECE STEEL FRAME
STEEL/2X STUD

BUCK & FRAME ANCHORING

PRODUCT:

JK

LFS | PART OR ASSEMBLY:
BY

REVISIONS

9/30/17 |UPDATE TO 6TH ED. (2017) FBC | LFS

8/11/20 |UPDATE TO 7TH ED. (2020) FBC | DAC
1/27/16 |REVISE ANCHORING

3/23/15 |UPDATE TO 5TH ED. (2014) FBC

1

NOJ DATE

My

DATE: 03/14/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15341.2

SHEET _7 oF _8

© 2012 R.W. BUILDING CONSULTANTS INC.



BILL OF MATERIALS

DESCRIPTION MATERIAL
2X BUCK SG >= 0.55 WOOD
MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 OR ASTM A653 STEEL

174X 2-3/4" DeWALT OR TW PFH CONCRETE SCREW STEEL
1/4"X 1-3/4" TTW PFH CONCRETE SCREW STEEL
#10 X 3/4" HILTI KWIK-FLEX SELF-DRILLING SCREW STEEL
1/4" X 1-3/4" TW HWH CONCRETE SCREW STEEL
SSMA STUD 5505162-54 (Fy = 33 ks, FU = 45 ksi) STEEL
#8 x 3/8" PFH MACHINE SCREW STEEL
10-24 X 1/2" FLAT HEAD SCREW STEEL
#9 X 1.0" PFH WOOD SCREW STEEL
47X 4"BUTT HINGE STEEL
F&X 1-1/4 PEH WOOD SCREW (1-1/8" MIN. EMBEDMENT) STEEL
JAMB HINGE REIN. 14 GA. 4" x 4" 1.53" (.075" GALV. STEEL) BY DUNBARTON FRO0505 STEEL
COMPRESSION WEATHERSTRIPPING QLON QDS 650 BY SCHLEGEL FOAM
DOOR BOTTOM SWEEP by DUNBARTON PVC
REDIFLEX JAMB BASE 18 GA. .042" MIN. GALV. STEEL) BY DUNBARTON STEEL
REDIFLEX JAMB CLOSURE 22 GA. (.026" MIN. GALV. STEEL) BY DUNBARTON STEEL
DOOR PANEL .020" THK. GALV. STEEL, WOOD EDGE BY MASONITE STEEL
WOOD LOCK STILE 1.708" x .970" BY MASONITE WOOD
WOOD LOCK BLOCK 1.708" x 3.375" x 10.75" F. J. PINE BY MASONITE WOOD
WOOD TOP RAIL 1.708" x .908" BY MASONITE WOOD
WOOD BOTTOM RAIL 1.708" x 1.010" BY MASONITE WOOD
STEEL DOOR PANEL - BY MASONITE STEEL
SIDE STILE 0.043" ROLL FORMED STEEL BY MASONITE STEEL
DOOR PANEL 0.020" THK. GALV. STEEL, STEEL EDGE BY MASONITE STEEL
WOOD LOCK REIN. FINGER JOINTED PINE BY MASONITE WOOD
POLYURETHANE FOAM CORE POLYURETHANE
BOTTOM RAIL .032" THK. ROLL FORMED STEEL BY MASONITE STEEL
TOP RAIL .043" THK ROLL FORMED STEEL BY MASONITE STEEL
PLASTIC LOCK RING PLASTIC
STRIKE PLATE - DEADBOLT STEEL
STRIKE PLATE - LATCHBOLT STEEL
EVERSEF LATCH w/ EVERSEF DEADBOLT STEEL
KWIKSET SERIES LATCH w/ KWIKSET SERIES (660) DEADBOLT STEEL
SCHLAGE LATCH (F SERIES) w/ SCHLAGE DEADBOLT (B60/62) STEEL
OUTSWING BUMP THRESHOLD by ENDURA ALUM
ADA THRESHOLD by ENDURA ALUM
INSWING FIXED THRESHOLD BY ENDURA ALUM
2X FRAMING: SG >= 0.42 WOOD
#8 x 1-3/4" PFH SMS (1-1/8" MIN. EMBEDMENT) STEEL

!

4"

| 0.344"

0.569" —=

29

'—— 4.563" ——————]

25"

oy

T

L——

058" —— =

HINGE REINFORCEMENT

l—*——— 4.563"

j
s

e =

OUTSWING THRESHOLD

e € oy

ADA SILL

5.648"

!

Z 1

INSWING ALUMINUM THRESHOLD

|
T =

72

25"

1

1

August 11, 2020

P.0. Box 230, Valrico, FL 33585
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

-

s

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

DUNBARTON REDIFLEX
TWO~PIECE STEEL FRAME

LFS | PART OR ASSEMBLY:

JK
BY

9/30/17 |UPDATE TO 6TH ED. (2017) FBC | LFS

8/11/20 |UPDATE TO 7TH ED. (2020) FBC | DAC
1/27/16 |REVISE_ANCHORING

3/23/15 |UPDATE TO 5TH ED. (2014) FBC

4
3

[

1

E
<
a
o
z
2

DATE: 03/14/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15341.2

SHEET _8 of _8

\\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15341 - Exterior Door Components - Rediflex Steef Frames\C - Drawings\FL-15341 (2020)\FL-15341.1-4.dwg

FBPE Registry No. 9813

REVISIONS

© 2012 R.W. BUILDING DONSULTANTS ING.



